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3. How many feet long is the tap which is
used to measure a large length?
a) 30
b) 10
c) 300
100

4. 1 mile = How many km?
a) 0.62
b) 1.16
c) 1.26

A 161

3. How many square metres are there in 1
square yard?

a) 0.24 (Approx)

b) 0.54 (Approx)

c) 0.64 (Approx)

V) 0.84 (Approx)

2
feet?

a) 800
b) 4320

c) 5280

‘;)-6080

8. What do you mean by 'Deca’ in Greek
language?

a) 10 times

b) 100 times

C) one tenth
\ﬁ one hundredth

9. The length of a rectangle is 330 yards

and its breadth is one-third of length.

What is the breadth of the rectangle in

metres?

@) 100.584
b) 110.584
c) 140.584
d) 440.584
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.Th
%t%ad t|e1 l7ength Of @ small poy s 15 cm,

M and height i |
the volyme of the box-?h £S5 om. What i

a) 27 cubic ¢m
) 35 cubic cm

€) 105 cubic cm its -
v 525 cubic cm ik

12. If the base js
Cm, then how muc

¢) il and iii
d) i, ii and iii

1.5m and height is 80
h is the area of triangle

: . metres
in Sg) TSGGU’ e Which one of the following is correct?
: a) i &ii
b) 1.2 b) i & i
e 60 ¢) i &iii
d) 120 W i, i & i

13. Gold is 19.3 times heavier than water. 18, If the voluma o & s D ol
The weight of 1 cubic centemetre water is me.tres its length a ndl eserval s
1 gram. What is the weight of 10 cubic ! breadth

t d 2 metres » then its :

centemetres gold in grams? [ne .. respac
a) 1 . height is 1.5 metres
b) 1.93 ii.  area of base is 6 sq. metres
c) 193 lii.  volume is 9000000 cubic cm.

193

Which one is correct?
14. In which year metric system was first @) i and i

introduced in Bangladesh? ?)) ;i:r:%l;:i
a) 1st July, 1980 o=
b) 1st July, 1981 w0 i,
d) ;rsl;JJtﬁn 11998820 19. If length of a paper is 25 cm, breadth

s 16 cm and thickness is 0.3 mm of ;
13. What is the weight of 8000 litre pure paper, then how much s the volume

water? cubic cm of such 10 papers?
a) 1kg a) 0.008
8 kgs b) 8.00
) 8000 kgs ;) ggo
d) 8000 gm )




21. 1 katha equal to -
i. 720 sq. feet
ii. 80 sq.yard
iii.  67.89 sq. metres (Approx.)

Which one of the following is correct?
i and ii

b) i and iii
c) ii and iii
d) i, ii and iii

22. The length of a reservoir is 4 m,
breadth is 3 m and height is 2 m. What is
the volume of the reservoir in cubic
centimetres?

a) 24

b) 2,400

c) 2,40,000
/8) 2,40,00,000

23. Observe the following information -
I. 1inch = 2.54 cm (app.)
ii. 1 cubic feet = 28.67 litre (app.)
iii. 1 cubic metre = 10 stayor (app.)
Which one is correct?
iand ii
b) i and iii
¢) ii and iii
d) i, ii and iii

24. The length of a box is 3 metres,
breadth is 2 metres and height is 1.5
metres. What is the volume of the box?
9 cubic m
b) 9sg. m
c) 6.5m
d) 6 cubic m

yards. What is the area of the field
square feet? 0 S T
a) 12

27. Area of a rectangular garden is 300
Q. m. and its breadth is 15 m. What is the
perimeter of the garden?

a) 10m

b) 35m
w70 m

d) 300 m

28. 2 miles equal to how many yards?
a) 6080 yards
b) 5280 yards

w3520 yards
d) 1760 yards

29. At 4 degree temperature the weight of
1 cc pure water is -

v 1gm
b) 100 gm
¢) 1000 gm
d) 10000 gm

30. If the area of a rectangular garden is
714 sq. metre and its length is 34 metre,
what is the perimeter of the garden?
a) 55 metre

b) 84 metre

10 metre
7)’136 metre



Qne A e
Q) iand "the
b) i and jij

C) ii and iii Sl a) Ia
’ i i / =1L st
el b) iandiii
: ¢) i and i
32. If the volume of a reservoir i is 9 Jﬂﬂi and iii

rcr:lbtlf metres, its length and breadth are 3
€tres and 2 metres respectively then its - 36.
I Height is 1.5 metres
. Area of base is 6 sq. metres
. Volume is 900000 cubic cm.

Which one is correct? 25m
i and ii

b) ii and iii

e O D
- el P —m—"
) i, ii and ii What is the area of AABC?
33. In Greek language - a) 22.5sq.m
i. deca means 10 times b) 45sq. m
ii. hecto means 100 times 0sq. m
d) 500 sg. m

iii. kilo means 1000 times
Which of the following is correct?
g 37. Which of the following is equal to 20

a) iandii illiar
b) " and_f!i %entigram
V%Pd L b) 2 decagram
i, ii and iii :
€) 2 decigram

34. What is the volume of a box wih the d) 2 hectogram

length 3 metres, breadth 2 metres and

height 1 metre 50centimeter? Q?Utical mile = fiow manie e
a) 6 cubic metres b) ig;gg ;EZE
b) 6.5 cubic metres ¢) 7040 feet
c) 7.5 cubic metres d) 6960 feet
cubic metres

39. 1 mile="?
a) 0.61 km
b) 0.62 km
W@ 1.61 km
d) 1.62 km




7740 gm

41. The length of 3 sig
is 5 metre. Which is

tank?
ﬁj cubic metres

b) 25 cubic metres
¢) 20 cubic metres
d) 15 cubic metres

42. In which temperature the weight of 1

cubic centimeter of pure water is 1 gram?
a) 100°C
B 1°C
c) 4F
C

43. What is the weight of 250 milliliters
water in kg?

a) 0.25
b) 0.50
c) 25

d) 250

44. The area of a rectangular garden is
400 Sq. metre and length is 25 metre,
then what is its perimetre?
a) 25m
b) 41m
2m
d) 100m

10

€ of a cubical tank
the volume of the

46. 100 Katha = what
a) 5589
b) 5889
C) 6089

w @) 6689

47. 2 Bigha =
a) 720
b) 1440
€) 1600
#3200

48.1acre =?
a) 2026.86

how many square yards? h

5q. metres (approx)

49. What is the meaning of 'Hecto' in
Greek language?

a) 10 times
w7100 times
) times
d) times
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MCQs

1. Which one of the following is the square 5. Which one is the square of the algebraic

of (x - 3Y) eXPreSSon 3+ ¢ ?
)x+6xy+9y2 )a +b 4
X - 6xy+9y2 b) & +b2+c +2ab - 2bc + 2ca
)x+6xy 9y ﬁefa +b+c + 2ab - 2bc - 2ca
d) x- - bxy - 9y? d) a*+b% + ¢ +2ab + 2bc - 2Ca

1
2 Wh|ch One s the square of (x + 2y)? f l’;’hat 5 the value of (a '), ifa + Y
) X+ 2 + V2 e

8
mz + 4xy + 4y? Q) 2
) 242+ 4y >
d) X+ xy +V 00
3. Which is the difference of the square of 7 Ifa +1,= 3, then which is the value of |
(x+6)and (x +4)? 3’ + /a : :
a) - 6
b) x2- 42 ;f7

¢) (x)*-(10)? 0) 1
Jﬂ%+WWW d) 13

4,1 + Y =1, what is the value of x + S-Ifa-b=>5and ab =3 then what is the

% value of a® + b ?
A 2) ) a) 13
02 93t

93 d) 37

20



lD.;Ifa+b=7anda-b=3,menwhlch H

gne of the following is the value of a* + b?

a) 20

9
c) 40
d) 58

11. Which one of the following is correct
of expression of (y + 4) (y + 2) as the

differ of two square?
ﬁ +3)-1

b) (y + 4)’ -1
o) (y+ 222 -1
d) (x-3)*-1

1_2=Ifx=p+1/pandy=p-1/pthen(x
gy =?

13.Ifa* + '/," = 119 then P +Yl2=?
11
b) V119
913
d) 19

;A.zlf x - 1/, = 6, what is the value of (x +
h)?
a) 32
b) 38
40
d) 44

If @

fa?

17. 1 x + Yy = 2, which one is the value
of X + U3 ?
a) 0

18. Which one is the cubic value of ° + 2
?
a) x*+8
b) X + 8
‘;))); +4C + 4
19. If x - Yy
foll;v?g is the value of x© - }/,3 ?
4

20.1fa’-b*=36,a-b=3,thenab=2

21

a) 21
b) 23
¢) 2

c) 12
d) 14

b) 6
g) 7
d) 8

a) -1
b)

1
d)3

- 1 =5a, what is th

X +6x8 + 12 + 8

1, which one of the




d) (x+2)(x-2)

PR s 1, = 2, then which one Is the e
value of (X3 +x o 28. H.CF. of 2> -b*and @ + b%is --

a) a) a-b
mg" b) a+b
€} 12 c) 0
d) 14 SO

23. Which one of the following will be 29. Which one of the followinzg is the ?;
right if we express (3x - 7) (7 + 3x) inthe H.C.Fofa + b, a>+ aband a2 - b2 ? |
form of the difference between two a) a(a-b)

squares? b) a-b
a) 3¢ - 49 : Q) a(a-b)
- (49’ =
IcD)) (i>2<)_ 7( 9) d) a
52 - 49 30. Which is the L.C.M. of 4ab®d, 9a’c

and 12a°bc*x ?
24. Which one of the following is the @Y 36a°b%ch3

H.C.F.of X% + xy? and X + 3 ? b) 36a%b’*
X+y c) 36ab’c’x
b) xgx +v) d) a’b’c’x
c) x°+
) +y 31. Which one of the following is the
L.C.M.ofx* - 9 and X2 - 3x ?
25. Which one is the H.CF. of x* + X, X% - 3x
X%y + xy?and X + y*? b) x*-9
+y C) X+3
b) X (x +y) d) x(*-9)
¢) X (x+Y) .
d) xy (x +y) 32 What is the L.C.M. of a -b, 2’ -ab and
a*-b? i

;g_. Which of th3e fol3|owing is the H.C.F. of a) a(a-b)
(@’ +b%and (@°-b’) ? b) a-b
.eff € (a* -b?)
b) a-b d) a%- b?
c) a+b
d) a*+ab + b?



1€ _of the
Ofa+b az % ab, a
a) a(a-b)
- Hap
Q a(@ b’
a® -b?

) x+3

WA X (¢ - 9)
L What is the L.C.M. of 4ab®¢, 9a%c and 36. What is the L.C.M.

12%) a’-b*?
32,4
b’’’ a) a(a-b)

b) 36a’b’c*
b) a-b
¢) 36abic’x 2 42
d) a’b’c*x f):Z(?bZ )
37.

X2 -7x + 12
Which one of the following is the lowest value of —z—2=7—

X -4 X+ 4 X -4 X+ 4
( b) ot & 0 d) NI
NC=n3 P : X+ 3 X+ 3

X-3

38.

x3 + 3x?

Which one of the following is the lowest value of —
X X+ 3

X2
/L_ b) ©) d)
3 X+ 3 X=3 x=-3

X=Y Ky
What is the simplified form of ; v

4 (@ +y) b)-(x2 =4 & (x-v)z. d) (x-yy
Xy Xy Xy




AR X2 X X+ 3
a) —— e ) —— d) ——
x-3 X+ 3 X-3 Xx-3

42,
X2- 7 + 2
x2-9x +20

Which one of the following is the lowest value of

& X~1 X2 X=2
g2 ) —— O —— d) ——
x-5 x-3 x-5
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